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X4 BEERXA g8 H
FIREX 1,529 1,719 3,248
- FRERX 1,422 1,470 2,892
ki FIRER 965 993 1,958
/NEY 3,916 4182 8,098
FAHERX 1,061 1,091 2,152
g FEHIRER 341 320 661
= FORER 993 952 1,945
/NET 2,395 2,363 4,758
FIREX 930 945 1,875
T R ESRER 316 317 633
INET 1,246 1,262 2508
RIET FIRER 637 663 1,300
FI10HRER 547 552 1,099
BIRER 452 475 927
= = FNHRER 509 513 1,022
FIRER 369 394 763
INET 1,877 1,934 3811
] FEIHRER 784 880 1,664
FEISRER 532 536 1,068
& FI6RERX 724 732 1,456
INEY 1,256 1,268 2,524
FITHRER 372 366 738
R F EISRER 506 499 1,005
/NET 878 865 1,743
FIGRER 715 723 1,438
AR=F& FEHRER 809 782 1,591
INEY 1,524 1,505 3,029
FEU/RER 389 402 791
e F2IRERX 699 662 1,361

' X

FIRERX 432 414 846
INET 1,520 1,478 2,998
FEURER 1,023 1,056 2,079
FEIRER 316 338 654
/T FIRER 1,010 998 2,008
FEATIRERX 712 749 1,461
/NET 3,061 3,141 6,202
E2BIRERX 623 610 1,233
2 H ERER 411 408 819
INEY 1,034 1,018 2,052
e FIHRERX 830 869 1,699
EIRER 627 663 1,290
E | ERKRER 1,020 988 2,008
EIRERX 675 654 1,329
/NET 2,322 2,305 4627
%34¢x7,< 659 642 1,301
FEIHHRERX 531 482 1,013
R A %36?17,: 581 569 1,150
FITRER 238 296 534
INEY 2,009 1,989 3,998
i 25,289 25,722 51,011
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